Dear Mr. Bracket,
You have ordered a Colossal Kingdom Elite playset with a Tarp Roof. This is a custom unit.

Attached to this letter are documents to allow you to build this play set with a tarp roof. We have
provided you with Wood Roof instructions and below | will describe what you must do to build the play
set with a Tarp Roof.

Lower Level:

1) Omit Steps 12 to 18 which show you how to build the Wood Roof in the manual. | put a diagonal
slash mark beside the wood roof parts in the bill of materials that should NOT be included with you play
set parts.

Use Step 12 and Step 42 after this sheet to attach the tarp boards and tarp.

Also skip steps 35-37 which show building the wood roof dormers

Upper Level (Sky Loft):

1) In Step 39 of the manual you will not have top holes in the corner posts. | circled this in your manual.

2) Omit steps 46 through 53 to assemble the Sky Loft Wood Roof. Use Step 48 and Step 49 after this
sheet to attach the Tarp Support Assemblies/Tarp Boards and Tarp.

If I may be of further assistance to you please contact me.
John Hendley
PlayNation Play Systems, Inc.

770-704-9300 extension 2214



STEP 12: TARP SUPPORTS

1: FASTEN A 2 X 4 X 72" TARP BOARD ONTO THE ENDS OF THE SIDE RAILS WITH TWO 3/8" X
3-1/2" LAG SCREWS AND 3/8" WASHERS.

2: FASTEN A 2 X 4 X 66" CENTER TARP BOARD ONTO THE TOP OF THE CENTER UPRIGHTS
WITH TWO 3/8" X 3-1/2" LAG SCREWS AND 3/8" WASHERS.

2 X4 X66"
3/8" X 3-1/2" CENTER TARP BOARD
LAG SCREW
WITH 3/8" WASHER
ON EACH END

2X4X72"
TARP BOARD

3/8" X 3-1/2"
LAG SCREW
WITH 3/8" WASHER
ON EACH END

2X4XT72"
TARP BOARD




STEP 42: TARP

1: LAY THE TARP OVER THE CENTER TARP BOARD WITH THE BUTTON SNAPS FACING UP.

2: HAVE AN ASSISTANT HELP YOU WRAP THE ENDS OF THE TARP AROUND THE END TARP
BOARDS. THE ENDS OF THE TARP WILL WRAP AROUND TO THE INSIDE OF THE END TARP

BOARDS.

3: MARK THE LOCATIONS FOR THE TARP SNAPS ONTO THE END TARP BOARD ON ONE
SIDE. FASTEN A TARP SNAP WITH SCREW AT EACH MARK. SNAP EACH BUTTON SNAP
ONTO THE TARP SNAP WITH SCREW.

4: NOW GO TO THE OTHER SIDE AND MARK THE LOCATIONS FOR THE TARP SNAPS ONTO
THE END TARP BOARD. FASTEN A TARP SNAP WITH SCREW AT EACH MARK. SNAP EACH
BUTTON SNAP ONTO THE TARP SNAP WITH SCREW.

WRAP TARP AROUND

END TARP BOARDS TO THE
INSIDE. MAKE MARKS AND
INSTALL TARPS SNAP WITH
SCREW AT EACH MARK.
SNAP EACH BUTTON SNAP
ONTO THE TARP SNAP
WITH SCREW.




STEP 48: CROW'S NEST CENTER TARP BOARD

1: Fasten the 59" x 32-1/2" Tarp Support assemblies to the corner posts with 3/8" x 3-1/2" lag screws.
2: Fasten the 2 x 4 x 51" Tarp Boards on each end of the Tarp Support with #8 x 2-1/2" wood screws.
3: Fasten the 2 x 4 x 48" Center Tarp Board on top of the vertical tarp supports with #8 x 2-1/2" wood
screws.

2-1/2" WOOD SCREW

59" x 32-1/2" }
Tarp Support 2X4X 48
Assembly

N /CENTER TARP BOARD

2Xx4 x51" Tarp
Board



cad1
Text Box
1: Fasten the 59" x 32-1/2" Tarp Support assemblies to the corner posts with 3/8" x 3-1/2" lag screws.
2: Fasten the 2 x 4 x 51" Tarp Boards on each end of the Tarp Support with #8 x 2-1/2" wood screws.
3: Fasten the 2 x 4 x 48" Center Tarp Board on top of the vertical tarp supports with #8 x 2-1/2" wood screws.

cad1
Callout
59" x 32-1/2"
Tarp Support Assembly

cad1
Callout
2 x 4 x 51" Tarp Board


STEP 49: CROW'S NEST TARP

1: LAY THE TARP ACROSS THE CENTER TARP BOARD AND THE SIDE TARP BOARDS.
2: CENTER THE TARP ACROSS THE BOARDS, AND MARK THE LOCATION OF THE TARP SNAPS WITH A PENCIL.

3: PLACE A SNAP SCREW IN THE FRONT LEFT SIDE TARP BOARD IN THE MARK THAT WAS MADE. SNAP THE TARP
INTO PLACE IN THIS LOCATION. MOVE TO THE RIGHT SIDE OF THE FORT, AND PLACE A SNAP SCREW IN THE RIGHT

FRONT SIDE TARP BOARD IN THE MARK MADE.

4: CONTINUE INSTALLING THE TARP SNAPS IN THE SAME FASHION AS THE PREVIOUS STEP, WORKING DOWN THE
TARP AND KEEPING IT TIGHT AT ALL TIMES.






